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The total sum of squares is the sum of the sum of squares for error and the sum of squares for treatments.
The degrees of freedom associated with the sum of squares treatments is n-1.

The appropriate distribution when testing for the difference in two population means, aséuming equal variances and
small sample sizes is the t distribution.

The degrees of freedom for the paired-observation t-test are n-2.

The two assumptions necessary to test for a difference in two population proportions are that the sample sizes are large
and that the samples are independent random samples from the two populations.
The probability of success changes from trial to trial in Bernoulli trials experiments.

Inzregression analysis, every time that an insignificant and unimportant variable is added to the regression model, the
R” decreases. :

The uniform distribution has higher probabilities for small values than for higher ones.

The Central Limit Theorem states that as the sample size increases, the distribution of the sample mean approaches a

normal distribution with mean equal to the population mean and standard deviation equal to the population standard
deviation.

The standard error of the sample mean is equal to .
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Suppose that you carry out a statistical test and find that the test statistic is z = .20 (Assume that the sample size is at
least 30.) If the test is one-tailed, then the p-value is:

A.-0.0124 B. 0.0062 C..00228 D.0.9876 E.0.1212

If = 0.01 for a one-tailed test, how large is the area of rejection?
A.0.05 B. 0.025 C.0.01 D. 0.005 E. None of the above

I'would like to test the null hypothesis that the population mean is 50 versus the alternative that it is not 50. My

sample size is 6 and the sample mean is 38 with sample standard deviation of 16. At o = 0.05, I should:
A. Strongly reject the null hypothesis

B. Mildly reject the null hypothesis

C. Fail to reject the null hypothesis

D. Accept the alternative hypothesis

E. There is insufficient information to determine

In a left-tailed hypothesis test involving a normally distributed population with a known standard deviation, the

computed test statistic was Z =—1.74. If the null hypothesis is rejected based on this evidence, the risk of making a
error is approximately .

A.Typel; 4.1 %

B. Type II; 4.1%

C. Type I; 95.9%

D. Type IT; 95.9%

E. Both A and D are correct

A clothes store manager has sales data of trouser sizes for the last month's sales. Which measure of central tendency

should the manager use, if the manager is interested in the most sellable size?
A. Mean

B. Median

C. Mode

D. Standard deviation
E. Interquartile range

A market research company has collected data on the price of a particular brand of soap in several different locations.

The prices are as follows: $0.89, 0.95, 1.25, 1.36, 1.49, 1.65, 1.79, 1.89, 1.99. What are the upper and lower quartiles
of soap prices for this brand?

A.1.72,1.17
B.1.84,1.17
C.1.72,1.10
D.2.21,0.74

E.1.84,1.10
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rands of ice cream and rank their favorites from 1 to 5, would be an

< ?%
A survey in which customers taste five different
example of which type of scale of measurement?

A. Nominal B. Ordinal C. Interval D. Ratio E. Mean
The probability of stock A rising is 0.3 and of stock B is 0.4. If stocks A and B are not independent and the

probability of both stocks rising is 0.09, what is the probability that neither stock rises?

A. 0.61 B. 0.39 C.0.12 D.0.91 E. 0.03

The estimate for the true population slope, by, is the ratio of which two values?
A. SSx/SSy

B. SSxv/SSx

C. SSx/SSxy

D. None of the above

(10) When testing Ho: B; = 0, against H;: B; =0, failing to reject the null hypothesis means what?

A. The slope of the regression line is not zero

B. There is evidence of a relationship between x and ¥y, but it is not linear
C. The relationship between x and y is an inverse one

D. There is not a linear relationship between x and y

E. There is a linear relationship between x and y

3. (5%) According to the past experience of Tatung Department Store, 25% of the customers buy PDP TV, 30% of the

customers buy LCD TV and 45% of them just “look around”

. Suppose there are six customers in a given day, what is

the probability that the owner of Sogo Department Store sells 2 PDP TV and 2 LCD TV on that day?

4. (15%) Suppose that X has probability density function

x(1-x) ,0<x<1
Jx) =
0 , otherwise
(a) Compute %. |
(b) Compute P(X>0.2).

(c) Compute the expected value, E(x).

5. (10%) A health club would like to show that one of its new pro
participants in this program was asked to record their weight b

grams helps members lose weight. A random sample of 5
efore and after this program. The results are shown below:

Participant Before (pound) | After (pound)
1 125 115
2 170 165
3 121 121
4 172 175
5 202 195

At the 0.05 level of significance, is there a significant reduction in the average weight after participating in this program?

6. (15%) Men arrive at a service counter according to a Poisson at an average of 6 per hour, women arrive at a service counter

according to a Poisson at an average of 12 per hour, and children arrive at service counter ac

average of 12 per hour.

(2) Please determine the probability that at least two customers
(b) If the counter is open at 9:00am, please determine the

arrives at the counter after 9:10am.

cording to a Poisson at an

(without regard to sex or age) arrive in a 5-minute period.
probability that the first customer (without regard to sex or age)
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